1 | 2 IFINDOUBT ASK/DO NOT SCALE. 3 | 4 FORUATIG KETOSTHO-0TR)
1 JO L - 'ON L33HS ALL DIMENSIONS ARE IN mm
C00-dINd-d¥ - 'ON "OMd
F
VINCENT BRACKET
4 Nos. of M8 bolt
/ i — :/ | _— 4 Holes @9 to
ST - — ’HT' suit 8mm anchor _—
( | fasteners
| T | Cable ent
. ‘ ‘ ry
} K Pipe for | | hole @20
/ cable entry 400 |! !
\ -
]
l
\ ,_|, | — =g = = — Q
( \ Mounting details
67 \\ \—4 Nos. of sleeve —
\
\74 Nos. of hole to suit driving
of M8 anchor bolt
D
VINCENT INVERTED BRACKET
i 2 :%/4 Nos. of M8 bolt
[ e = — — —
| T
I
| |
I
\ 400 i i C
Pipe for | |
) ( / cable entry | ) | hC;zll;IeQ thry
T — ]
| P | B
9 X \ ‘ " 4 Holes @9 to —
\ \\ 4 Nos. of sleeve —=—| 80 [=—  suit 8mm anchor
\ fasteners
\ Mounting details
\4 Nos. of hole to suit driving
of M8 anchor bolt
NOTE : B
1. Pipe for cable entry shown is only for indicative.
2. Sleeve and anchor fasteners are not included in the scope of supply.
01 DESIGN REVISED 16-02-19 SATHISH |
FLEC:/' REVISION DETAILS DATE REVISED CHD APPD
DRAWN CHECKED | APPROVED DATE SCALE | MATERIAL Z:\KP\010.DETAIL MOUNTING DRAWING\KP - DMD - 002\REV 01.dwg
BASKAR 09-07-18 1:10 -
DETAILED MOUNTING DRAWING FOR KP - W2 A
K-LITE INDUSTRIES WALL BRACKET
CHENNAI - 600 098 _ | PRG.NO. REV | SHEET
= KP-DMD-002 | o1 | tort
1 | 2 3 | 4




